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o < o & o4y w3 A & = pJ ES

o D% 20t 2 SNY ABE(E1S)
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o bt MEJH(IL~&3F) 627,550 X 128 = 7,531
o &I € A HEE 800,000 X 202 = 1,600
O [SgHl] = 6,270
o PASY U4 = 6,270
O [AN&&EHl |Xidl] = 27,082
o EM2te E20d |AE | 205,000 X 128 = 2,460
o d2IHIoIe KAt 160,000 X 128 = 1,920
o THZ MAY SRE4H] = 13,322

- ONEXZA AHI(60) KX
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- UXEXNSAS/W SR ==t 34,226,000 X 8/100 = 2,738
10,000 X 10024 = 1,000
o S M2 AIEEHl |SXIHI(2002) 2,620 X 3,580m" = 9,380
O [xtzddetdl] = 5,000
o OISZAZ MBI 416,670 X 104 X 128 = 5,000

8,782 14,540 A5,758 02 B AF2 ]

O M3 LT SHSHBH3 = 980
o TLEJNEME 60,000 X 8JH X 13| = 480
o BE2= M 1,000 X 500& X 13 = 500
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o TEIIEME 60,000 X 8JH X 23| = 960
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o SHDA AWBALY
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O o7de = 2 1Y XNEguws 29 = 1,500
o Jgs +Ytl 1,500 X 1,00000 = 1,500
O el #Xna(SA=s, SAEEY)
1,250,000 X 2902 X1& = 2,500
O H23 A HEBEZDHIISUE, SAEH
921,000 X 2902 X 18| = 1,842
202
(0=Rs]! 8,260 8,694 N434
8,260 8,694 A434 101 = LHOd B
O 2NSY oK = 8,260
301
o A= 2,900 4,400 A 1,500
2,900 4,400 A1,500 12 JIEIE A2
O H 13l AR SNY H2is = 2,900
o A& 200,000 X 1@l = 200
o xRak 150,000 X 49! = 600
o R4t 100,000 X 1201 = 1,200
o it 50,000 X 18¢%l = 900
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&8 @ T _ _
i = O] &b OH Ol AF oM s A & AF = J| =
405
THokE S 4| 45,000 26.000 19.000
45.000 26.000 19,000 02 S Al H]
O SA 2 HEA 2| 10,000 X 2,0002 X 22 = 40,000
O OISHEST A T H| 10,000 X 5002 = 5.000
200
ARSI Ol AF 245 648 299,534 ~53.886| L= 20,0001
210
SEAY 20,000 074,834 254,834 L 20,0001
402
DI2HRHZ 0| ® 20000 24834 4,834
20.000 24834 A4.834|02 0I2CHSH AL H|
O RREABRE AU 20,000,000 X 14l = 20,000
(= 20.000 )
220
X} I ALY 205 648 24,700 200,948
401
NPT 216,098 0 216,098
215,000 0 215,000 |01 Al&H|
O 2RYTAZ = HH| 200,000,000 X 14! = 200,000
O MEIYCHD W2IE N2 L SGEYAT
15,000,000 X 14! = 15.000
1,098 0 1,008 03 Al&=0HH]
O 7 2UCAHZ FH AL20
200,000,000 X 0.549% = 1,008
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